
ASSEMBLY & INSTRUCTION MANUAL

READ AND SAVE THIS INSTRUCTIONS FOR FUTURE USE

INegb002_UK_FR_ES_DE_IT

861-038













PACKING DETALS:TOTAL 4 BOXES



PART
LIST

M6*16

Z 76

Y 36

X 24

W 16

G  6

F  4

E  1

D  6

C  6

B  6

A  6

M6*30

M6*38



02

01

x6

x6

Z  2

Z  2

Y  2

X  2

M6*30

M6*38



04

03

x6

x6

Z  2

X  2

M6*30

Z  4

Y  4

M6*38



06

05

M6*16

W 16

Z 16



D
one

07






	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

